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MODEL QUESTION PAPER
ONE MARK QUESTION PAPER

11th Standard

MATHEMATICS
Exam Time : 01:00:00 Hrs Total Marks : 50
CHOOSE THE CORRECT ANSWER S0x1=>50
1) Let :R—R be defined by f(x)=1-|x|. Then the range of f is
(@) R (b) (1,) (©) (-1,) (d) (-o0,1]
2) The function f:R—R be defined by f(x)=sinx+cosx is
(@) an odd (b) neither an odd function nor an even (c) an even (d) both odd function and even
function function function function
3) Ifn((AxB) N(AxC)) =8andn(BNC)=2, then n(A) is
(@ 6 (b) 4 () 8 (d) 16
4) For non-empty sets A and B, if A ¢ B then (A x B) N (B x A) is equal to
@ ANB (b) AxA (c) BxB (d) none of these.
5) The value of log38Ll is
(@) -2 (b) -8 () -4 (d -9
6) If 3 is the logarithm of 343 then the base is
(@) S (b) 7 (©) 6 (d) 9
7) The equation whose roots are numerically equal but opposite in sign to the roots 3x2-5x-7 =0 is
(a) 3x2-5x-7 =0 (b) 3x%+5x-7 =0 (c) 3x%-5x+7 =0 (d) 3x%+x-7
8) The numbher of roots of (x+3)*+(x+5)*=16 is
(@) 4 (b) 2 (c) 3 (d) O
9) The maximum value of 4sin’x+ 30082}:+svin§ + mv;-c i3
@ ; ©) 5 © = @9
10) 1f 7 < 20 < 3?7[, then \/Z?/i? cos40) equals 1o
(a) -2 cose (b) -2 sine (c) 2 cose (d) 2 sine

11) A wheel is spinning at 2 radians/second. How many seconds will it take to make 10 complete rotations?

(a) 10z seconds (b) 20z seconds (c) S5z seconds (d) 15z seconds
1 1
12) 1f tanx =7 tany = 7 then x +y is:
@ 3 (b) 3 © 3 d =
13) The number of five digit telephone numbers having at least one of their digits repeated is
(@) 90000 (b) 10000 (c) 30240 (d) 69760

14) There are 10 points in a plane and 4 of them are collinear. The number of straight lines joining any

two points is

(a) 45 (b) 40 (c) 39 (d) 38
15) The number of rectangles that a chessboard has

(a) 81 (b) 99 (c) 1296 (d) 6561
16) If ™C4,"Cs5,"Cg are in AP the value of n can be

(@) 14 (b) 11 (c) 9 (d) 5
17) The coefficient of x° in the series e ¥ is

@ 3 b) 3 © = @

18) The coefficient of x®y!'? in the expansion of (2x + 3y)?° is
(@) 0 (b) 28312 (c) 28312 + 21238 (d) 2°cg 28 312
19) 1-2x+3x%-4x>+ ..., Ixl< 1 is:
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() (1-x)2 (b) (1+x) (9 (1-x)? (d) (1+x)°

.. is:
e ete ! e—e !

@ — (b) — (© — (d) none of these

21) If 7x? - 8xy +A = O represents a pair of perpendicular lines, the A is
(@) 7 (b) -7 (c) -8 (d) 8
22) The lines x + 2y -3=0and 3x -y + 7 = O are:
(a) parallel (b) neither parallel nor perpendicular (c) perpendicular (d) parallel as wellas perpendicular
23) Find the nearest point on the line 3x + y = 10 from the origin is:
(@) (2, 1) (b) (1,2) (© (3, 1) (d (1,3)
24) The slope of the line joining A and B where A is (-1, 2) and B is the point of intersection of the lines 2x +
3y=5and 3x + 4y = 7 is:

1 1

(@) -2 (b) 2 (© 3 (d "3
25) Find the angle between the lines 3x?,- 10xy - 3y = 0

(@) 90° (b) 45° (c) 60° (d) 30°

26
) 1

0 0
Which one of the following is not true about the matrix [0 0 0 |?
0 0 5

(a) a scalar matrix (b) a diagonal matrix (c) an upper triangular matrix  (d) a lower triangular matrix
27)

I -1 a 1
If A= |-2 _q ],B= [b _q ] and (A+B)2=A2+BQ, then the values of a and b are
L

(@ a=4,b=1 (b) a=1,b=4 (¢ a=0,b=4 (d a=2,b=4
28) a x
If A[ | and if xv =1, then det(A AT) is equal t>
4 a
’ d
(a) (a--1)2 h) fa® +1)2 fc) a% -1 d (g2 -1)?

29) rlo5n i1 0
The matrix A satisfying the equation l 0 1 JA= [ 0 —1 Jis

1 4 1 -4 1 4 1 -4
(@) [—1 o] (b) [1 0] © [0 —1] @ [1 1 ]
30) Let A and B be two symmetric matrices of same order. Then which one of the following statement is not
true?
(a) A + B is a symmetric matrix (b) AB is a symmetric matrix (c) AB=BAT (d ATB=ABT
31) If 2i + 2/1}' + 2k is a unit vector, then the value of lis

@ 3 b) (© (@

ol —
N =

32) 1f 14| =13, (5| =5 and 4.5 = 60° then |d@ x B| is
(&) 15 (b) 35 (©) 45 d) 25
33)

The projection of b on a is

a.b\- a.b a.b a.b
(a) (T)b (b) — © — (d) (T)
15| 15| ld| |a]
34) 1f |Zi‘=4 and -3 < 1 <2 then the range of |}Ji|is
(@) [0, 8] (b) [-12, 8] (c) [0, 12] d [8,12]
35) Iim g -ar-2ve 1Y
X—0 X2
(@ 2log2 (b) 2(log2)? (c) log2 (d) 3log2

36) lim,_ 5|x| =
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(@ 2 (b) 3 (c) does not exist (d O
37) Iff: R — R is defined by f(x)=|x — 3| + |x — 4| for x € R, thenlim, _,;-f(x) is equal to
(@) -2 (b) -1 () O (d 1
38) . xe¥—sinx |
limy o~ is
(a) 1 (b) 2 (©) 3 (d) 0
d2
39) If x=a sin 6 and y= b cos 6,then d—iis
X
a2 b o b 3 23
(a) asec 0 (b) —=sec”6 (c) —sec % (d) —ysec 0
40) . (1-x) dy .
Ify= > ,then o is
(a) 8 (b) 1 (c) 4 (d) 5
41) x—5 if x<1

If f (1} =J4yvi—9 if 1< x <« 2,then the right hand derivative of f(x) at x = 2 is

3x+4 if x=2
(@) O (b) 2 (c) 3 (d) 4
42) The number of points in R in which the function f{x) = |x — 1| + |x — 3| + sin x is not differentiable, is
(@) 3 (b) 2 (c) 1 (d) 4
43) 1] (e dx = (x - 1)e* + ¢,then f(x) is
2 3 3
(a) 2x3— % +x+c (b) % +3x2+4x+c () x3+4x2+6x+C (d) 2% -x*+x+c
44 e6logx7 eSlogx )
) Ao Vo dx is
x° 3 1
(@) =+c &) 7 te (¢ =+¢ (d S+
45) | =2 v is
\/co.;Zx"" o
(a) tan’! (sin x)+c (5) 2sinl(tan x)+c (c) tanl|cos x)+c (d) sin “l{tan x)+c
46) Ie\/xdx is
() 24x(1 — eV +c (b) 24V —1)+c (© 2eV¥(1 =) + ¢ (d) 2eV(x—1)+c
47) If A and B are two events such that AcB and P(B) # o ,then which of the following is correct?
(@) P(4/B) = % (b) P(A/B)< P(A) () P(A/B)=P(A) (d) P(A/B) > P(B)

48) There are three events A, B, and C of which one and only one can happen. If the odds are 7 to 4 against
A and S to 3 against B, then odds against C is
(a) 23:65 (b) 65:23 (c) 23:88 (d) 88:23

49) In a certain college 4% of the boys and 1% of the girls are taller than 1.8 meter. Further 60% of the
students are girls. If a student is selected at random and is taller than 1.8 meters, then the probability
that the student is a girl is

2 3 5 7

(@ 17 (b) 77 © 1 (d) 17

50) If m is a number such that m < 5, then the probability that quadratic equation 2x%+2mx+m+1=0 has
real roots is

1 2 3 4
(@ 3 (b) 3 (€ 3 @ 3
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